R28_MECH

Canyon# Part Name Qyt.
R28 EL | 14090 FD-Hanger E205-01 IPC
— |
- 2 FD-Hanger Screw M4xI2 2PCS
Canyon# | PartName ayt. 3 | AID53873 cable guide for FD-Hanger E209-15 IPC
| FD-Hanger E205-01 IPC 4 | 134417 cable guide BB EI62-15 IPC
[ 140901
2 FD-Hanger Screw M4x12 2PCS 5 - RD Hanger No.25 IPC
3 | AIO37888 | Cablecap BB EI57-I3 IPC 6 RD Hanger screws M3x8 M3x8 3PCS
4 | 140900 Seat Clamp Set E204-01 ISET 7 | AI048150 Cable Stopper CS E208-15 IPC
5 | AI022937 | plastic clip-in cable holder E56-12 IPC
6 | mos77ig | grommet Dizchainstay EIGH3 Pe 8 | 140900 Seat Clamp Set E204-01 ISET
7 | AI048I5I Di2 Grommet E207-15 IPC 9 | AI022937 plastic clip-in cable holder E56-12 IPC
g RD Hanger No.25 IPC 10 | AI03768I alloy water bottle screw 5PCS
] AI036982
9 RD Hanger screws M3x8 3PCS Il | AI037680 protection foil C/S IPC
10 | AI03768I alloy water bottle screw 5PCS -16-
Y I Igig% One One Four SLX ~ F30-16-POI IPC
Il | AI037680 | protection foil C/S IPC | F30-16-P07
12 | AI037720 | Assembly battery holder EIB0-13 ISET
13 | AI037721 screws for battery holder M4xI2 2PCS
105567 F30-16-PO1 | |ng
14| 144675 One One Four SLX 5016 po7

AEROAD CF SLX | R28-0I

REVISION 00| 20.07.2018
\\\“\




